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<body>
<div class="one"></div>

<div class="two"></div>
</body>

.one{
width: 50px;
height: 50px;
border: 5px solid green;

}

. two{
width: 50px;
height: 50px;
border: 5px solid purple;
margin-top: 10px;
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<body>
<div class="one">
<div class="two"></div>
</div>
</body>

.one{
width: 200px;
height: 200px;
background-color: green;
color: white;

}

.two{
width: 50px;
height: 50px;
background-color: purple;
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.one{
width: 200px;
height: 200px;
background-color: green;
color: white;
overflow: hidden;

}

.two{
width: 50px;
height: 50px;
background-color: purple;
margin-top: 10px;

}

2o Q20 overflow: hidden 7|

.one{
width: 200px;
height: 200px;
background-color: green;
color: white;
display: inline-block;

}

.two{
width: 50px;
height: 50px;
background-color: purple;
margin-top: 10px;

}
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<body>

<div class="one">this is block</div>

<div class="two">and this is block too</div>
</body>

his is block
and this is block too
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<body>

<span class="one">this is inline</span>

<span class="two">and this is inline too</span>
</body>
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2.3. inline-block

<body>

<span class="one">span but block</span>
<div class="two">div but inline</div>

<br>

<div class="three">we are</div>
<span class="four">inline block</span>

</body>

.one{
color: white;

background-color: green;

¥
.two{
color: white;
background-color: purple;
¥

.three, .four{
color: white;

width: 100px;
height: 100px;

}
.three{

background-color: blue;
}
.four{

background-color: red;
}
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3. =X

<ul>

=0

<li>Apple</1i>

<1li class="a">Mango</1li>
<1li class="a">Banana</1li>
<li>Melon</1i>
<li>Strawberry</1i>

</ul>

.a +
1i +

3.1.

3.2.

1i { background:red;}
1i + 1i { font-size:30px;}
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